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MASTER OF ARTS (ECONOMICS)

Term-End Examination

tr)	 June, 2010
tr)
O

MEC-008 : ECONOMICS OF SOCIAL SECTOR
AND ENVIRONMENT

Time : 3 hours	 Maximum Marks : 100

Note : Attempt questions from each section as per instructions

given under each section.

SECTION - A
Answer any two questions from this section in about

600 words each.

What are the major flaws in the current system 20
of national income accounting ? What
modifications are required to account for
environmental changes in the traditional system
of national accounts ?

Explain the difference between growth and 20
development. Discuss the different measures used

to study income inequalities in an economic
system.

3.	 What is a public good ? Explain what determines 20
the optimal provision of public good ? Would
private market provide public goods optimally ?
Explain.
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4.	 What are the different health insurance 20
mechanisms used to pool health risks ? Should
user charges be levied for public health care
services - examine critically.
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SECTION - B
Answer any five questions in about 300 words each.

Explain the contingent valuation method of 	 12
valuing environment.

Explain in brief the different options available for 	 12
abating pollution.

Explain the concept of Joint Forest Management	 12
and its relevance in India.

Is income a good indicator of development ?	 12
Explain.

What is meant by market failure ? Discuss in brief 	 12
the various sources of market failure.

What are the main areas of thrust of the New	 12
Institutional Economics (NIE) ? How does it differ
in its thrust from that of Old Institutional
Economics (OIE) ?

11.	 Write short notes on :	 12
Millennium Development Goals
Sarva Siksha Abhiyan (SSA)

12.	 Explain Barker's in Utero Hypothesis. In what 	 12
way is it important for achieving better health
status of a community ?
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